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Trapezoid Rule
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A table of values for a continuous function f is shown above. Iqual subintervals of [0, 2] are
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Example 2:
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A table of values for a continuous function f is shown above. If four equal subintervals of [0, 2] are
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used, what is the trapezoidal approximation of f 2 f(x)dx?
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What if the subintervals are not equal?

Trapezoid Sum (Unequal Subintervals)
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Approximate the value of [ 0 f(x) dx using a trapezoidal sum with the five subintervals indicated by
the data in the table. Snzs
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Example 2:
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A table of values for a continuous function f is shown above. If four subintervals of [0, 10] are used,

what is the trapezoidal approximation of |, 010 f(x)dx?
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